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General Marking Principles

1.1 Please note that it is not possible to list all acceptable alternatives in the Detailed Mark Scheme
provided on the following pages. You will need to consider all alternative answers and
unexpected approaches in candidates' scripts, make a decision on whether they communicate
the required elements, in consultation with the Principal Examiner if necessary, and award marks
accordingly.

1.2 Crossing out:

(a) If a candidate changes his/her mind over an answer and crosses out an attempt, award a
mark if the final attempt is correct.

(b) If a candidate crosses out an answer to a whole question but makes no second attempt at it,
mark the crossed out work.

1.3 Annotation used in marking:

(a) BOD = Benefit of the Doubt and is used to indicate material considered by the Examiner and
judged to be more correct than incorrect: the benefit of the doubt is given to the candidate
and the mark is awarded.

(b) NBOD = No Benefit of the Doubt and is used to indicate material considered by the Examiner
and judged to be more incorrect than correct: the benefit of the doubt is not given to the
candidate and the mark is not awarded.

(c) caret = to indicate where something which is key to the response is missing.

1.4 No response and '0' marks

Award NR (No Response):

e |f there is nothing written at all in the answer space or

e |If there is only a comment which does not in any way relate to the question being asked (e.g.
'‘can’t do' or 'don’t know') or

e If there is only a mark which isn’'t an attempt at the question (e.g. a dash, a question mark).

Award O:

e If there is any attempt that earns no credit. This could, for example, include the candidate
copying all or some of the question, or any working that does not earn any marks, whether
crossed out or not.
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Detailed Mark Scheme
Section 1
Question 1
Accept Reject Mrk

Minor character errors in transcription
(missing or additional strokes) provided
that the meaning is clear and that a
different character is not created.

Minor omissions in the body of the

phrase.

(a)

R

ok

(1]

(b)

A

(1]

(c)

(1]

(d)

(1]

(e)

(1]

Total.

[5]
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Question 2

Candidates either get full marks for each question or zero. No partial marks are awarded.

The following are examples of the way in which the answers could be expressed. Answers should
retain the same meaning and contain all the necessary elements of the phrase to (retain the original
meaning) be reworked.

Qnr Accept Reject Mrk
BT EAAF EAZY, FARLIT R [1]
EiR,

(a) or
B A #ZF ¥ LAFE, AT CFRA A
iR,

Foheey ik BT PS) AR 2]

(b) .o
BRI R S MR, BRI R AP 2]
itk R

(c) |or . ‘

MRS B AR E, ERMA Ry | NE RS BANR, BRMAIR
iAo LA AR
Total. [5]
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Question 3

Lifting = a whole sentence taken from the text will usually invalidate an answer unless further original
explanation is offered.

If (and only if) all the words in the reject column appear in the answer unchanged, reject as a ‘lift’.
Annotate this using the LM stamp (Lifted Material).

It is not uncommon for candidates to ‘lift' and then go on to rephrase acceptably, in which case
indicate the lift using LM stamp but reward the rephrase.

(@) FEFAF I — e A WA IR,

Accept Reject Mrk

A) | "R The long lift should be rejected: 1

%R KAM, ZTFFLeFm, oL
B) | ¥ AR B TR E LR FREAAFAEFFEEL |
RO BRI B AR ]

Total | [2]
(b) FAELARE T X G| AL 5 A3 AR R R A EAL?
Accept Reject Mrk
A) | E&FEH (LE) | KEREKRE The long lift should be rejected: 1
B) | E#A/ZAAER [LoAF Fap T MG KREERE: £ 1

LN FRAF R KA LTRSS 44
BARR O AR BT FREEKRR

C) | #l=A&RM B EAPIANKRIL, BRFEF B LMCHE 1
EN |
Total | [3]
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(c) A 2HNFARETFRECIHKR R
Accept Reject Mrk
YA e AR [ R MIAR [ & H M | The long lift should be rejected:
A st 1
[—&FA MM REE, AEhIERS
U . TR, MM RA LikisE, M
TAFF R AR 2. v o o s 1 . ’
B) | LATRERMAZA N FE R R A 2R, ] 1
Total | [2]
(d) RKAe)FEABEEKRESN T RIFEFGER?
Accept Reject Mrk
A) | FehF AR 2 TR The long lift should be rejected: 1
B) | AFAM LA [ALFRIFRT RRKERH M RGTFE 1
R, THBEMEFELFTFR, AF
AW T T AEERKRES P RF
#HYOFET, ZIFLTREGELE. ]
ST FH T FAEL TS
C) | MRBETHFELTRA T2 T A 6 % Ry 1
2 )i 4h 52 A AN R
Total | [3]
() “Hekr” XIT&MIRALH T HAKR?
Accept Reject Mrk
A) | HETFEF] (Bhay) REF The long lift should be rejected: 1
B) |7 KkAaRagHE [P ST T “GREB 5" YLt 1
R, FAMARRLERGHRE, HRT
g Aey It F A X REMH, ik
C) | 3|74 EH T RaRG#E, DREETHE, FE2 1
TAFEHRE. ]
Total | [3]
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(f) AT 5k S A A A AATR R T H 24742
Accept Reject Mrk
A) | FERRZTFEOHLEZR The long lift should be rejected: 1
[ TREAE G L5 A 4B AP AR
B) |A#TASTIZLHME RAFY, ZIHETMIRETFANALE 1
R, MEERTARALT L LME. ]
Total | [2]
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Quality of Language — Accuracy (Questions 3, 4 and 5) [5]
5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex
structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in
spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems
in forming correct agreement of adjectives. Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

Additional marking guidance for Quality of Language — Questions 3 and 4:

The five marks available for Quality of Language are awarded globally for the whole performance on
each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of
marks for language, i.e. length does not determine the Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the
number of Content marks available for each of these questions and reduce the Quality of Language
mark according to the following table:

Total Content marks available on questions Reduce Quality of Language mark by:
where a candidate scores 0

2-3
4-5
6-7
8-14
15

Al | OWIN|-=

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content
marks at all (i.e. 0 Quality of Language marks only if 0 Content marks).

[Total: 20]
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Question 4
Mark as Question 3
4 (a) —RABIHA2FTXKEE “RELF 9EE?
Accept Reject Mrk
A) | (ZiRE) EF) The long lift should be rejected: 1
[[RZAAT WA R EGTARTE MEH R E
B) | #&#F (Frifay) RAR® EH); A ARAEERE, REFEIE 1
é{] “kﬁ&@%’, o ]
Total | [2]
(b) Eeyid Ak iRk T AL ?
Accept Reject Mrk
A) | — R TBHEL SR % The long lift should be rejected: 1
B) | X "R EFM/FRI KT M [E2ARTHE, FE IR, MA-T| 1
PR AL T B BIAR =N R, — R AHIE
LN NS
C) | FlARAMEE [iX AP 3 5% & 09 48 b F B A X T3 = & 57 4 1
B TAAR S e AR A S, FIR KA
%o ]
Total | [3]
(c) At AR ZBEZEEART EH?
Accept Reject Mrk
A) | AAREIK A H The long lift should be rejected: 1
B) | ~a#MEF HK [5 X305 47 6952 AR F E A AM T 1
A, TMARSMEGFK, mEL2HERAK
C) | ¥tk R, MG &M RIE. ] 1
D) | Ml & A
Any 3 of above Total | [3]

© UCLES 2016




Page 10 Mark Scheme Syllabus | Paper
Cambridge International A Level — October/November 2016 9715 23
(d) #FEANITHAAN 2ER AR FIREE,
Accept Reject Mrk
A) | 2E B EFrRIHIRK The long lift should be rejected: 1
[2axgth B HK, Fadill. ]
% FrL LR AL R . O e ,
B) | # oLkt R AR LEARY AN TANESER, BEgpe | |
se, RmA AR, ]
Total | [2]
(e) KM R AR Loy4sk & K3 REA H AHGIR 0 ?
Accept Reject Mrk
A) | AR F IR R Ak The long lift should be rejected: 1
B) | MERHMEEL LA [B4, 1R % REERE LRMERR—E, 1
FHIRER ]
[AARPL “RARES” |, FAEF0ELH
C) |y fkImIE RREZHHE. ] 1
[BAKRKERERIERE, ERANLTH
R ER, R REIFR. ]
Total | [3]
() RRKEZZIATHZ T ERK
Accept Reject Mrk
A) | 2HTRESHFLGES The long lift should be rejected: 1
[RBRZAFTRE SN R, HE
B) KT I B H 8 f AL T ke i@ | AR, HRTF R EH, 1
EAC) AN i sBE Fo 2 BEAR GG B E RS vR, AEIZT AR
BHR K. ]
Total | [2]
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Quality of Language — Accuracy (Questions 3, 4 and 5) [5]
5 Very good

Consistently accurate. Only very few errors of minor significance. Accurate use of more complex
structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical elements in
spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some problems
in forming correct agreement of adjectives. Difficulty with irregular verbs, use of prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

Additional marking guidance for Quality of Language — Questions 3 and 4:

The five marks available for Quality of Language are awarded globally for the whole performance on
each set of answers.

A concise answer, containing all mark-bearing components for Content is scored on the full range of
marks for language, i.e. length does not determine the Quality of Language mark.

Identify the answer(s) scoring O for Content in the whole set of answers. Then add together the
number of Content marks available for each of these questions and reduce the Quality of Language
mark according to the following table:

Total Content marks available on questions Reduce Quality of Language mark by:
where a candidate scores 0

2-3
4-5
6-7
8-14
15

Al | OWIN|-=

Note: A minimum of one mark for Quality of Language should be awarded if there are any Content
marks at all (i.e. 0 Quality of Language marks only if 0 Content marks).

[Total: 20]

© UCLES 2016



Page 12

Mark Scheme

Syllabus

Paper

Cambridge International A Level — October/November 2016

9715

23

Question 5

Length of 5(a) + 5(b) (Summary and Personal Response)

Insert a slash / after the 240th character to show the end of the response to be marked.

Writing within the character limit is part of the task, and candidates who remain within the limit (200
characters in total) deserve credit.

Content marks: Summary

The summary could include the following points (award 1 mark for each point covered up to a

maximum of 10 points):

[10]

[Text 1]

FALEAF R

b er B R L i MR S PR

% UK RIR R IME BB

X T Ae 5 A LRI A AN T AF A

R ER R EH P RF ST F A

1
2
3
4, FEFREKERFHETH ZF TR
5
6
7

B EMRIFE R TR ED

[Text 2]

8. R A SRER RO T 1) R AE 1L K

9. EHMBIERLEY

10. &0 % HALIT L — R S/ AP & R o 5T AR R IFIE B ARE

1. RIRBARAE &

12, 8 0 BEAREY T B RS v kR 2 T ROIA T A R B R
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Content marks: Response to the Text [5]

Marked like a mini-essay according to the variety and interest of the opinions and views expressed,
the response to the original text stimulus and the ability to express a personal point of view.

5 Very good
Varied and interesting ideas, showing an element of flair and imagination, a capacity to express
a personal point of view.

4 Good
Not the flair and imagination of the best candidates, but work still shows an ability to express a
range of ideas, maintain interest and respond to the issues raised.

3 Sound

A fair level of interest and ideas. May concentrate on a single issue, but there is still a response
to ideas in the text.

2 Below average
Limited range of ideas; rather humdrum. May disregard the element of response to the text, and
write a largely unrelated free-composition.

0-1 Poor
Few ideas to offer on the theme. Banal and pedestrian. No element of personal response to the
text. Repeated error.

Quality of Language — Accuracy (Questions 3, 4 and 5) [5]

5 Very good
Consistently accurate. Only very few errors of minor significance. Accurate use of more
complex structures (verb forms, tenses, prepositions, word order).

4 Good
Higher incidence of error than above, but clearly has a sound grasp of the grammatical
elements in spite of lapses. Some capacity to use accurately more complex structures.

3 Sound
Fair level of accuracy. Common tenses and regular verbs mostly correctly formed. Some
problems in forming correct agreement of adjectives. Difficulty with irregular verbs, use of
prepositions.

2 Below average
Persistent errors in tense and verb forms. Prepositions frequently incorrect. Recurrent errors in
agreement of adjectives.

0-1 Poor
Little or no evidence of grammatical awareness. Most constructions incomplete or incorrect.
Consistent and repeated error.

[Total: 20]

© UCLES 2016



